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BINOMIAI PROBABILITTES

) 90% of the graduates of Wissahickon High who apply to Bucknell University are admitted. This year, there were
6 graduates from Wissahickon who applied to Bucknell. What is the probability that '

. b) more. than 4 ;vcr_? admitted 6 b S
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2} According to FBI statistics, there mage of 2,300 vehicles stolen per day in the U.S. That puts the
chances of your carbeing stolen at about 1 out of 120, The McBride family owns 4 cars, What is the

probability that -

a} none will be stgl;:n today b) at least one will be stolen today
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33 Mario is taking a multiple-choice exam that consists of 6 questions. Each question has 4 choices. If he Fuesses
at cach answer and he must get 4 questions correct tO/Jass, what is the probability that he will pass the exam.
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4) A shipment of 100 tires from the Apex Tire Corporation is known to contain 20 defective tires. Five tires are
selected at random and each tire is replaced before the next tire is selected. What is the probability that not

more than two defective tires will be chosen. ; - o
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5) K the condifions are the same in the previous problem except now that 15 tires are selected, what is the
probability of getting at least one defective tire? '
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6) Studies indicate that in 70% of the families of Blne Bell, both the hnsband and wife work. If 7 families are
randomly selected from Blue Bell, what is the probability that

a} exactly 4 of them work.
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7) A researcher claims that 80% of all the families in Houston have aC It
selected, what is the probability that all 6 families have VCR’s.
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8) According to the National Institute of Health, 32% if all women will suffer a hip fracture because of
osteoporosis by the age of 90. If 6 women aged 90 are sclected at random, find the probability that

a) 3 of them suffer or will suffer a hip fracture b) none of thém suffer or will sﬁffer a hip fracture
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BINOMIAL PRI )BABILITIES (Cont’d)

9) According (o the Tnternal Revenoe Service, the chances of your tax return being andited are 3 in 100 if your
-ncome 18 $60,000 or less and 2 in 100 if your income is more.than $60,000. 6 tax payers are chosen

a. carning less than $60,000. Find the probability b. earming more than $60,000. Find the probability
that pone will be audited. that more than half are andited.
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10) A survey indicated that 3 out of every 5 people support the President® cnis—IF 10 people are chosen at
random, find the probability that :

‘a5 support the president . b} 9 or more support the president
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11) According to FRI statistics, only 52% of all rape cases are reported tape cases are

randomly selected, what is the probability that 50 moTe than | is reported to the police?
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12) The Wissahickon Student Council deternines that only —1% of the stadent body refurns surveys. They choose 8

stadents to randormnly receive a SUrvey-. ‘What is the probability that

a) they get 4 surveys back. b) they get no surveys back.
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13) The probability that a ddver making a gas purchase will pay by credit card is % 1f 6 cars pull up to the station
to buy gas, what is the probability that 4 or rnore of the drivers will pay by credit card?
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14) On 7-11’s shelves, thefe are 40 loaves of bread. Ten of them are stale. Gail checks 4 of the loaves for
freshness, replacing them after she selects them. Find the probability that

a) all are fresh { b) half are fresh
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15) in Lansdale, 449 of all fire alamms are false alarms. On 2 certain day, there were 12 fire alarms. Find the

probability that : |
a) none is a false alaﬂrm i’L ) b) there are at least 2 falseif‘:lLlarms.- | i
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